Component 12/Unit 10
Quiz with Answer Key
1. In the absence of a valid and transparent measurement system, most people are over-confident in their performance.

a. True

b. False

2. An example of a structural measure is the percentage of time providers spend with patients.

a. True

b. False
3. Donebidian’s model of structure-process-outcome addresses how we organize work, what we do for work, and what results we get from our work.

a. True
b. False
4. An example of an outcome measure is the whether we have a policy to manage patients with heart valve repair on our unit.

a. True
b. False
5. In order to calculate a fall rate, you need to have a clear definition of the population that is at risk for falls.

a. True
b. False
6. Many of the things we put forth in health care as “rates” are not really “rates”.

a. True
b. False
7. Thinking about who is in the sample is important when trying to minimize measurement.
a. True

b. False
8. It is important to account for “missing data” before communicating results of analyses.

a. True
b. False
9. Non-rate-based quality measures are worthless.

a. True
b. False
10. When looking at rates of urinary catheter-related urinary tract infections the numerator would be the number of patients that had a urinary catheter.

a. True
b. False
Component 12/Unit 10
Health IT Workforce Curriculum
2

Version 1.0/Fall 2010


